
 
e.

54
 

 50 

 28 

 
i.5

4 

 240 

Short helical
spring tensile 
Cod.303949001

Pipe N°1291 S.s
Cod.303396201

GP CORSA Carbon
 Øi 54X240 RHS
Cod.303457473

2X Knurled collar nut 
M8 Cod.200298

Silencer clamp  
Cod.303439501

2x Aluminium spacer
ø22X8,5 
Cod. 205090

Allen screw M8X20
T.C.E.I. Z.B. 
Cod.200722

Db-killer Ø22
Cod. 303430801

Welded bracket

Allen screw M5X6 
T.C.E.I. 
Cod.201044

Allen screw M8X12
T.C.E.I. Z.B. 
Cod.206731

gasket 33X26.15X4
Cod.201525 

Flange 57F
cod.083457014

S.s bracket
PROD. cod.083396001 
PURCH. Cod.206585

Allen screw M8X35
T.C.E.I. Z.B. 
Cod.200319

ORIGINAL FRAME

2x Aluminium spacer
øe.25-18x øi.8,5xh8mm 
Cod.206584

S.s welded bushing
cod.206583

NOTE: Remove 
original rubber

 90 

 33 

 24 
 26 

 
-
0
0,10 

 3
 

 R0,50 

 28 
+
 
0,30
0  

 1
4 

Bushing cod.206583

 
29 

 
9,

50
 

 R8 

 69 

 R
23

 

 47 

Flange 57F sp.6 mm
cod.083457014

ART. 3396

HONDA MSX 125  / GROM

FULL SYSTEM - GP CORSA - CARBON 


	DT-3396
	Vista del disegno1
	Vista del disegno5
	Vista del disegno7
	Vista del disegno8


